
1 Adda247  | No. 1 APP for Banking & SSC Preparation 
Website : bankersadda.com | sscadda.com | store.adda247.com | Email : contact@bankersadda.com 

 

 



2 Adda247  | No. 1 APP for Banking & SSC Preparation 
Website : bankersadda.com | sscadda.com | store.adda247.com | Email : contact@bankersadda.com 

 

Solutions  
 
S66. Ans.(d) 

Sol. Required % = ρππ ρππωπϷ 

 

S67. Ans.(a) 

Sol. Average number of Women working in 2014, 2015 and 2016 together  

= ςτπσφπσππ σππ 

Average number of Men working in 2011, 2014 and 2016 together = ψπρφπσφπ ςππ 

Required difference = 300 200 = 100 

 

S68. Ans.(c) 

Sol. Number of Men working in 2017 = σππστυ 

Number of Women working in 2017 = ςτπρττ 

Total number of labors working in 2017 = στυρτττψω 

 

S69. Ans.(b) 

Sol. Required Ratio =  

  

S70. Ans.(e) 

Sol. Total number of Men working in all six years = ψπρςπςτπρφπσππσφπρςφπ 

Total number of Women working in all six years = ςφπρψπρςπςτπσφπσππρτφπ 

Required difference = ρτφπρςφπςππ 

 

S71. Ans.(d)  

Sol. 

 
 

S72. Ans.(a) 

Sol. 

 
 

S73. Ans.(b) 

Sol. 

 
 



3 Adda247  | No. 1 APP for Banking & SSC Preparation 
Website : bankersadda.com | sscadda.com | store.adda247.com | Email : contact@bankersadda.com 

 

S74. Ans.(d) 

Sol. 

 
 

S75. Ans.(c) 

Sol. 

 
 

S76. Ans.(b) 

Sol. 

 
 

S77. Ans.(d) 

Sol. Let present age of A and B be 16x yr and 7x yr respectively 

ATQ 
ρφὼ ρς

χὼ ρς

ς

ρ
 

ᵼςὼ ρς 

ᵼὼ φ 

Present age of A=96 yr 

Present age of B= 42 yr 

 

S78. Ans.(b) 

Sol. 3ÕÍ Rs 6500 

CI in 2 years at 10% per annum= 10+10+ ςρϷ 

ATQ 

(6500+x) ρφψπ 

ᵼ φυππὼ ψπππ 

ὼ Ὑίρυππ 

 

S79. Ans.(b) 

Sol. Total weight of students = 47  (15 + 30) = 2136 kg 

Total weight of boys = 15× 58 = 870 kg 

Average weight of girls = 
ɀ

 kg = 42.2 kg ḗ 42 kg 
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S80. Ans.(a) 

Sol. 2ÁÍȭÓ ÃÏÓÔ ÐÒÉÃÅ-Ȣ2Ȣ0Ȣ  

2ÁÍÅÓÈ #Ȣ0Ȣ -Ȣ2Ȣ0Ȣ
ψπ

ρππ

ωπ

ρππ
 

2ÁÎÊÁÎ #Ȣ0Ȣ -Ȣ2Ȣ0Ȣ
ψπ

ρππ

ωπ

ρππ

ρςπ

ρππ
ρȟςωȟφππ 

ᵼ M.R.P. = Rs. 1,50,000 
 
Solution (81 -85):  
Let, Males and females who use their coupons in Haircutting be 13x and 7x respectively. 
ᵼ Males who use their coupons in Pedicure = χὼ χς 
Then Females who use their coupons in Pedicure = τυπρσὼ χὼ χὼ χς σχψςχὼ 

Pedicure  Haircutting  

Males Females Males Females 

7x+72 378-27x 13x 7x 

ATQ, 
 χὼ χςρσὼ χὼ σχψςχὼ ρχτ 
τπὼ σπφρχτ  
τπὼ τψπ  
ὼ ρς  

Pedicure  Haircutting  

Males Females Males Females 

156 54 156 84 

 
S81. Ans.(b) 

Sol. Required % = ρππρππϷ 

 
S82. Ans.(e) 

Sol. Required Ratio =  

 
S83. Ans.(c) 
Sol. Required difference = ψτυτ σπ 
 
S84. Ans.(d) 
Sol. Number of males who use their coupons in Haircutting which 
ÄÏÅÓÎȭÔ ÂÅÌÏÎÇÓ ÔÏ ÃÉÔÙ !   

=ρυφ ρρχ 

 
S85. Ans.(a) 

Sol. Males who use their coupons in Spa = ρυφ ρωυ 

Females who use their coupons in Spa =  ψτ ρυτ 

Total number of people who use their coupon in Spa = ρωυρυτ 
= 349 
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S86. Ans.(b) 

Sol. 

(i) 2x² + 9x + 9 = 0  

2x² + (6 + 3) x + 9 = 0  

2x (x + 3) + 3 (x + 3) = 0  

x = 
ɀ

 , ɀ3  

(ii)  15y² + 16y + 4 = 0  

15y² + 10y + 6y + 4 = 0  

5y (3y + 2) + 2 (3y + 2) = 0  

y = 
ɀ
ȟ 
ɀ

  

x < y  

 

S87. Ans.(c) 

Sol.  

(i)  2x³ = ρφ 

x³ = 8 

x = 2  

(ii)  2y² ɀ 9y + 10 = 0  

2y² ɀ (5 + 4) y + 10 = 0  

2y² ɀ 5y ɀ 4y + 10 = 0  

y (2y ɀ 5) ɀ 2 (2y ɀ 5) = 0  

y = 2,  

Ø Ѕ Ù  

 

S88. Ans.(e) 

Sol. 

(i)  6x² ɀ 11x + 4 = 0  

6x² ɀ (8 + 3) x + 4 = 0   

6x² - 8x ɀ 3x + 4 = 0  

2x (3x ɀ 4) ɀ 1 (3x ɀ 4) = 0  

x = ȟ  

(ii)  3y² ɀ 5y + 2 = 0  

3y² ɀ (3 + 2) y + 2 = 0  

3y² ɀ 3y ɀ 2y + 2 = 0  

3y (y ɀ 1) ɀ 2 (y ɀ 1) = 0  

y = ӏ, 1  

No relation between x and y  
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S89. Ans.(a) 

Sol. 

(i)  3x² + 11x + 10 = 0 

3x² + 6x + 5x + 10 = 0  

3x (x + 2) + 5 (x + 2) = 0  

x = ɀ 2, 
ɀ

 

(ii)  2y² + 11y + 14 = 0  

2y² + 7y + 4y + 14 = 0  

y (2y + 7) +2 (2y + 7) = 0 

y = ɀ2, ɀ  

Ø І Ù  

 

S90. Ans.(b) 

Sol. 

(i)  12x² + 8x + 3x + 2 = 0  

4x (3x + 2) + 1 (3x + 2) = 0  

x = 
ɀ
ȟ
ɀ

 

(ii)  12y² + 7y + 1 = 0 

12y² + 4y + 3y + 1 = 0  

4y (3y + 1) +1 (3y + 1) = 0  

y = 
ɀ
ȟ
ɀ

 

No relation between x and y 

 

S91. Ans.(b)  

Sol. 

(i)  21x² + 10x + 1 = 0  

21x² + 7x + 3x + 1 = 0  

7x (3x + 1) + 1 (3x + 1) = 0  

x = 
ɀ
ȟ 
ɀ

 

(ii)  24y² + 26y + 5 = 0  

24y² + (20 + 6)y + 5 = 0 

24y² + 20y + 6y + 5 = 0  

4y (6y + 5) + 1 (6y + 5) = 0  

y = 
ɀ

, ɀ 

No relation between x and y 

 



7 Adda247  | No. 1 APP for Banking & SSC Preparation 
Website : bankersadda.com | sscadda.com | store.adda247.com | Email : contact@bankersadda.com 

 

S92. Ans.(d) 

Sol. B can complete work alone in = ςπ ρφ days 

,ÅÔ # ÁÌÏÎÅ ÃÁÎ ÃÏÍÐÌÅÔÅ ×ÏÒË ÉÎ ȬØȭ ÄÁÙÓ 

ATQ, 
φ

ρφ

ρυ

ὼ
ρ 

ᵼ
ρυ

ὼ

ρπ

ρφ
 

ᵼØ
ρυρφ

ρπ
ςτ ÄÁÙÓ 

 

S93. Ans.(b) 

Sol. ,ÅÔ ÄÉÓÔÁÎÃÅ ÂÅÔ×ÅÅÎ 0 ÔÏ 1 ÁÎÄ 1 ÔÏ 2 ÂÅ ȬØȭ ÁÎÄ ȬÙȭ ÒÅÓÐÅÃÔively. 

ATQ, 

χυ
ςππ

 

φπὼ ωπώ ςππωπφπ
ρ

χυ
 

ςὼ σώ τψπ 

And ὼ ώ ςππ 

ᵼὼ ρςπὯά ὥὲὨ ώ ψπὯά 

 

S94. Ans.(e) 

Sol. Let wine and water are = υὼḊὼ 

.Ï×ȟ
υὼ

ὼ υ

υ

ς
ᵼρπὼ υὼ ςυ  

ὼ υ  
ᵼ ςυḊυ
 "ÅÆÏÒÅ ÍÉØÔÕÒÅ

ςυḊρπ
!ÆÔÅÒ ÍÉØÔÕÒÅ 

 

1ÕÁÎÔÉÔÙ ÏÆ ×ÉÎÅ Ѐ ςυЉ 

 

S95. Ans.(c) 

Sol. 

 

No. of non-officers υ ρυ 
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S96. Ans.(c) 

Sol. Total books sold by store A = συππ  = 700 

Total plain books sold by store A 

= ςπππ  = 600 

Total lined books sold by store A = 700 ɀ 600 = 100  

Total books sold by store B = υπππ =  2000 

Plain books sold by store B = σπππ  = 1200 

Total lined books sold by store B = 2000 ɀ 1200 = 800 

Required % = ρππ = Ϸ = ςυϷ 

 

S97. Ans.(a) 

Sol. Average of total books sold by stores B and C  

= υπ ρππτυ ρππ 

= 1675  

Unsold books of store A = συππ  = 2800  

Required difference = 2800 ɀ 1675 = 1125 

 

S98. Ans.(d) 

Sol. Total books sold by store C = τυρππ  = 1350 

Plain books sold by C = ρσυπ = 750  

Plain books sold by store B = υπππ  = 1200 

Required number of books = 1200 + 750 = 1950 

 

S99. Ans.(b) 

Sol. Unsold books of store A = συππ  = 2800  

Unsold books of store B and C together  

= υπππ τυππ  

= 6150  

Required % = 
ɀ

ρππ = 54% 

 

S100. Ans.(e) 

Sol. Number of total books sold by store B  

= υπππ   = 2000 

Number of lined books sold  

= ςπππ  = 1200 

Total amount earned = Rs. (800 × 250 + 1200 × 175) = Rs. 4.1 lac 

 


